Python
F—E HURERBENES

1 TERFXKEF

TEEGRMNE, BTEEYATHEERNNSRAISIA. BNAREMREERARTRERERA 5k
o 7E Python H, HRIRFRLUETFLATHIN,

L FTERRFFEB AT EE TRIZ () FFk, BABEERET. flgl: w var EEFRIIRR
£F, 1B 1digit RE.

2. WWRFFAILIE AT, HFMTRZE () o BlU0: crror 404, save ZRBEBRITRFF, B
$name$  (AFIF $ ) F #age (AT # ) BIEBHWRRET.

3. BRI E.

4. FNRRFRRERXET. XEFE Python ATFHRIFAEMRIRET) . LITRE Python 3 REIKHE

=
1 False class finally is return
2 None continue for lambda try
3 True def from nonlocal while
1 and del global not with
5 as elif if or yield
6 pass else import assert
7 break except in raise

2 TEME

- TEMER—TIXR. XEWME, ZELUENSIRSE R, EBEENETE, HITR
ic. FTERIZEHESIA. EaERatbiL,

« SIAMEEAR. SIARE—EIERISIE. BRI EUERE, FHEINREREIERTT
ik, SIRAR— I EUERE. B—HZEFA.

« QERBSFHELBNERFITRN., —BENHAEEN, RAEPSSEREREA/NIN
B, BRStE—RYE.

o FIR. T, FRFEARENERTEN. TLUBE FRRSRIEFERETRAE. Hit
HARETN, BRACERNEERE,

o BENZEE (class) RUEHEAZER. ER—MBUAI— MR, TLAESRISRATBRIZL
N

(EEEFTLMERNEARZRRA, f: 1, 11, 3. 048] hello” ¥WHE. TERIEAEH, SIESED
FRAFEE. FEETLURAENER, Ffgn 1, 112 int 28, 3142 float ] "hello” &
string , 1GfF, £ Python A, FrERAEEENSR, EEZEALUERE, FlUlint, float, string, I
1B EEENET FXI L TR,

£ Python Ff, BAFERAIFHALERE., BESBIESIMEENMENEZENRE. ERERS
TEEFS (-) . - FSURARESE.

TN REERPI—EmA:


af://n0
af://n2
af://n4
af://n16

x = 100 # x is integer

1
2 pi = 3.14 # pi is float
3 empname = “python is great” # empname is string
4
5 a=Db=c =100 # this statement assign 100 to ¢, b and a
6
RR:

BESELEER, ZREASAFHE. MR, TEMNBHURASIA (tbil) FHEERTS. EL,
£ LEAYESRT, TR « TR 100 (int WR) RISIA (FEEl) . T8 « RERFHEIR 100,

3R

TRERIEFBNEREF TIESZURYER. TR Python RESERI TIEFRIFTRIRIZIE S,
TRBTREERXE. £ Python 1, EELIHS () FFLATIIHANERE. fan:

1 # This program prints “hello world”

2 print(“hello world”)
AEERF, F1TRER. B, mE{T/EFA, Python BREESIERREE.
BT LB EaRES TR, fian:
# This program prints “hello world”

1
2

3 print ("hello world”) # display “hello world”
4

HERAXFZZUHINES, BIFRA st rt .

4 ZEMWE

BENTEESHZSEREATFRI NG ERESNTE. FRNDEREERNT:

1 varl, var2, ..., varn = expl, exp2, ..., expn
ZIEREHIF Python RIEGIBRIATEFRA, FEEIIoELDONENTE. Flan:
a, b =10, 20

print (a)

1
2
3
A print (b)

3

LM RERER, RISEIFEEEE. Fn:

K

> x =1 # initial value of x is 1

D>y =2 # initial value of y is 2

1
92
3
4 >>>y, X =X, y # assign y value to x and x value to y
5

FraHRsmE -
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>>> print(x) # final value of x is 2

1
2 2
3 >>> print(y) # final value of y is 1
4 1
5 Python &8

Python BI15 5 MTRESHESEEY,

L #E

2. FRFE

3. FE

4. JoH

5. FH

6. fo/R{E - FE Python B, True Fl False RT/RFHEHIE. BRUTEEHIASRZ False .

°© 0-0, 0.0

o [l -THIFK, O-=wdl, (| -TFH,

o None

6 MEHISIEIEEA

input O REIATINI=FIGEGEIN.
iEE:  input([prompt]) -> string

input () BREUIEZ—NEA prompt BAEFRTERESE]

*H
i
T
-
i
R
g

1 >>> name = input (“Enter your name: ”)
2 >>> Enter your name: tim
>>> name

3
4 ‘tim
5

BER, BMERATEE, innut( REMBRIREIFRGSR, EREEGRHEE, TJLER int (O 8
eval O REL,

>>> age = int (input ("Enter your age: ”))
Enter your age: 22

>>> age

22

>>> type (age)

[S3] 5= w Do —

{class " int’>

»

7S AER

Python {EFRRIRALUCES. Python BEMI TIFSNERER, BTRTHIANEFAEREEIAT nath IR, TENY
TIATURY re 1R, SEFRFERIIRERT os RIRE,

BERER, HAJESRMER wort IBEKHESA. HEZFNT:
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1 import module name
BANERILAERLA NEESAS MER:

1 import module name 1, module name 2
X2—MIF

] >>> import math, os

2 >

3 >>> math. pi

| 3. 141592653589793
5 o>

6 >>> math. e
7 2. 718281828459045

8 >0
9 >0
10 >>> os. getewd () # print current working directory

11 >>> ’ /home/user’
12 >0

FELGBRP, F—ITRNT nath 7 os RRPENWERE, X, TEMHEE., BHEERRPENXAY
MR, HNERREEERER, FRR (. ) , AERENRABIER. (AIXHREHEENR

8) . ELEEARAIg, BRI nah EERBRARDIERNEEER 0i M e . ET—1TF, HIIERE

FA os #RERAT getend O BREY, XEREUSFTENSRITIFER.

BEHFIEE

IEHESERNSZRED 1, 31,4, -1000, 0.000023 F 88888888 Z FKAYEME,
Python 375§ 3 FIARRIEIFREL,

1. int -FAFEERME, IR0 1, 100, 2255, -999999 , 0 FO 12345678
2. float -FBF& 2.3, 3.14, 2.71, -11.0 ZEHZFAE.
3. complex &EFTF 3+2j, -2+2.3j, 10j, 4.5+3.14] ZEEH,

1 &8

python PRYBEFHEERT int X,

1 >>> 1 =100
2 >0 i

3 100
4

2%

FREERTHNIRRYE.
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>o> £ =12.3
oo f
12.3

=W N =

FEIBN—RR SHFCEAFRER—RF~ER, ERERTFR

>>> 3 % 1.5
4.5

SNIERRAN, SEEBSCEMERMEOEM, B i Fx. BALUXEE

>>> x = 2 + 3j # where 2 is the real part and 3 is imaginary

4 TRERE

Python BH type ) WEREL, "THTH

ERERIE,

> x =12
>>> type (x)

1
2
3 {class "int’>

|

5 Python iIzEF

Python EERERIEER, TLGEREFTHITEIRIITE,

+, -+ LERTLE, HRCERREE—LRE.
£zt ax 5l
+ mE 15+20
EAEN 24.5-3.5
* Je; 15%4
/ FRBRE 4/5
// BHIRE 4//5
% S8 27%4
FRRE (/) o/ EERRHTIREFNZRBERRESER, XE

1 >>> 3/2

1.5

X

=R

SH:

REERRZIRE/ NGRS, AN
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BEIRE (/)

>>> 3//2
1

BEF () @ Lz

BEBTIHE

/ PUTRBERE, RIERHElnE

>>> 2 %k 3 # is same as 2 * 2 * 2

8

FEEEFT (v)

22> 7 % 2
1

6 BEFHTH

£ python B, BNRIATEBEREEFHLTRATKIE.

>y 3 x4+ 1

FEEERIFRIAIH, BEBNEEHITRE—MGEEEREAEH? AT RIEXFER, BIFEE

W IEBEREIRAREEESIZEE

b (aRIbIXR) .

. HEBHREE

ERVNSERD FHUREIEE.

WEFAIEENMEF

WEEAIA—MEIFRERE.

python PSIMIEERHASERFIER. TEFILHT python RN EENRAIILF.

Operator

Description

Parentheses (grouping)

Function call

Shicing

Subscrniption

Attribute reference

Exponentiation

Bitwige not

Positive. negative

Multiplication. division.
remainder

Addition, subtraction

Bitwige shifts

Bitwigse AND

Bitwise XOR

Bitwise OR

Comparisons, membership.
identity

Boolean WOT

Boolean AND

Boolean OF

Lambda expression

NSEERPAAI « £ + 2k, B« EEFHI,

REINE. Eib, D ERAAAIERERN 13,

R[EIREL.  fIan:
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1 >3 x4+ 1
2 >>> 13

WBAIBEE—MIFRRBEE — MR,

I > 3+4-2
FELALRIAIF, BEHTINEE L. MR + 1 - BASERER, REBeNERIGHITRE,
BISEni%, AIRIRGE.

1 >3+ 4-2
2 >>> 5

ZHNNE—FNEREZER (=) , ENERIEHI,
1 a=b=c¢
EEILAERIES O BERisedk, BN

1 >3k (4 + 1)
2 >> 15

MEERFRFITLUEL, (0 BEBESNER, BERAR 3 « 4+ ) f, FTKE ¢+ 1), 2AFHE
k. B, EEILUER O BXL%R.

128WHE

XEIEHMFEET RS RES O EED. Fia0:

1 >>> count = 1
2 >>> count = count + 1
3 >>> count
A 2

®

B EREESIEEN, RIITLUBEREN:

1 >>> count = 1
2 >>> count += 1
3 >>> count

1 2

o}

RO, BEILUE -, v, /0 /, = SIMEEEF—REERLISNYT RIRMEIEZEM.
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BEF B il FNF

+= ILEMRE x += 4 x = xtd
E L ETRME X -= 2 X = x -2
*= T EME x *= 5 x = x*5
/= BRIE(E x /=
//= BEINEE x //=5 x=x//5
= REE x %= 5 x=x%5
s EEEE X %= 5 X = X %k 5

()]
>

|
>
~
[S2}

B=F FigH

python FREFRFERZ MBS SENE I SOMRINELFRS.  Python iIRBHASRRAIFRFEIESRE,
FLENRTABNFFFER,

1 SUEBF TR

1 >>> name = “tom” # a string

2 >>> mychar = "a’ # a character

RRTLAERLA E AT,

1 >>> namel = str() # this will create empty string object

2 >>> name2 = str (“newstring”) # string object containing ’newstring’
2
I

1 name = “tom” # a string

2 mychar = 'a’ # a character

3

4 print (name)

5 print (mychar)

6

7 namel = str() # this will create empty string object

8 name2 = str (“newstring”) # string object containing ' newstring’
9

10 print (namel)

11 print (name2)
2 Python Y RFRERTTHY

XMEMEEWE, —BelET=fE, EOENEHTER. IEFMNU—MIFRRBX—R.

1 >>> strl = “welcome”

2 >>> str2 = “welcome”
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XE strl # str2 ISR EEEARTHPE MIEERZRAEXNS velcone 7, ERILMER id0 R
Wi strl BRE str2 5| FERBNER.

HARBDIE?

python PFEIBNIREFEEARAFTHIIE/MIE. FAITLMER id0 SKIEZNEFHEIE,

1 >>> id(strl)
2 78965411
|

>>> id(str2)
78965411

BT strl 8 sur2 FIEAERNEREUSE, Ee(iI#ERE—XR.
IEASIHE T AR FAFERRIEN sl R,

1 >>> strl += 7 mike”
2 >>> strl

3 welcome mike

L > id(strl)

5 >>> 78965579

6

WMEMERRI, strl IBAZEAENAEFAE, X7 HFERSERRAFHFENRMEIE—N
AFRFERENRIX—R. BF, 7 (B int 3&8) BEARARA.

HixE:

strl = “welcome”

str2 = “welcome”

print (id(strl), id(str2))

(S IR GET SUR NCR

6 strl += 7 mike”
8 print (strl)

10 print (id(strl))
3 FRFRIRE

FAERERSIN 0 FHE, BULE LA RREPRISE— AT

1 >>> name[0] #
2 t

1 name = “tom”

3 print (name[0])
A print (name[1])

- EEAFRATERTFMSR, M sRMEFENESIEEN.


http://python-builtin-functions/id/
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1 >>> s = “tom and 7 + “jerry”
2 >>> print (s)

3 tom and jerry

1 >>> s = “spamming is bad 7 * 3
2 >>> print(s)

3 " spamming is bad spamming is bad spamming is bad ’

P R

s = “tom and 7 + “jerry”

2 print (s)
3

A s = “spamming is bad ” * 3

5 print (s)

4 FFHRR

EEILMER [ 588 (BIRAYRIZER) WRIAFR SRR AR FE,
iBi&: slstart:end]

XIBMES| start BIZES| end - 1| IREIFFBRA—ES.

EERA LT,

1 >>> s = “Welcome”
2 >>> s[1:3]
3 el

—LEZAIGIF.

1 >>> s = "Welcome”

2 >

3 >> s[:6]

4 "Welcom’

5 >

6 >>> s[4:]

7 " ome’

8 >0

9 > s[l:-1]
10 "elcom’

11

P R

s = "Welcome”

w DN

print (s[1:3])
4 print (s[:6])
print(s[4:])
6 print(s[1:-1])

1

e I=
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start 25|80 end RS IRAIERY. WNREME, W start RIIBIBOMEN 0, T end FBOMENFFFHR
BE—1ER5

5 ord() Ml chr () &Y

ord() -EREVREIZRFAY ASCII £,
chr () -BREUREIR ASCI BIFRTNFE.

1 >>> ch ="b
>>> ord(ch)

>>> chr(97)

oo -~ (o7} ($g] >~ w Do
A
A7
g

ord(CA”)
65
P
1 ch ='b
2
print (ord(ch))
print (chr (97))

print (ord(CA"))

6 Python FRRY=F{FER RS

HEETR B %R

len () IREIFFFERANKE

max () REIEB RS ASCIH BIFRF
min () IREIEHR(E ASCIHBRIFRF

1 >>> len(“hello”)
2 5

3 >>> max (“abe”)
4 '@

5 >>> min(“abc”)

6 a
L

1 print (len(“hello”))
9
3 print (max (“abc”))
4
B

print (min(“abc”))
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BET

7 inflnot inj

ERILAGER in #0 ot in BEMGER— T

1 >>> sl = “Welcome”

2 >>> “come” in sl

3 True

4 >>> “come” not in sl
5 False

6 >>>

-~

i

1 sl = “Welcome”

2

3 print ("come” in sl)

4

5 print (“come” not in sl)

8 FRFERLLER

ERLMERI >, <, <, &, =,
FRFHY ASCII Eo

B st REBH )
EE:E:ES1|]$E-=r
B r BEEL c ERAYASCH{E, FRLA strl KF str2,

XEREEZTA:

1 >>> “tim” == "tie”

2 False

3 >>> “free” !'= “freedom”
4 True

5 >>> “arrow” > “aron”

6 True

7 >>> “right” >= "left”

8 True

9 >>> “teeth” < “tee

10 False

11 >>> “yellow” <= “fellow”
12 False

13 >>> “abe” > 7
14 True
15 >

P

FFRPREFE— TR,

I=) EEERPNFRIER,

Python #%

. FRLALR T BN =

BRI ASR

VMary” FHIE str2 BN "Mac” . EUER strl # str2 BURIRRNZERT (M

, BIHRERNFRF. BAE(IEES F(rflc) .

=y
=Y
|=I o

FHITFR e, RIfER

MFIM) .
#E!.
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1 print ("tim” == "tie”)

3 print ("free” != “freedom”)

5 print ("arrow” > “aron”)

7 print ("right” >= "left”)

8

9 print ("teeth” < “tee”)

10

11 print ("yellow” <= “fellow”)
12

13 print ("abc” > 7”)
9 fEF [or EIRERF T

FREBE—TFFIRE, BALUER for BIATEN (BETHEX for BREZER, FRE
&) .

1 >>> s = "hello”
2 >>> for i in s:

3 . print (i, end="")
4 hello
5

EE:

BOMBRT, print O REBITIFHIEDF TSR, BINBEIEERN ond UpRKBEFSECRERULT
A, T

1 print ("my string”, end="\n”) # this is default behavior
2 print ("my string”, end="") # print string without a newline
3 print ("my string”, end="foo”) # now print() will print foo after every string

i

1 s = "hello”
2 for i in s:
3 print (i, end="")

10 WitF g

python FFFFEREEBZMAES X, TRTREFRSENF S,
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HiEBR

isalnum()

isalpha ()

isdigit ()

isidentifier ()

islower ()

isupper ()

isspace ()

Hixistap

NRFHBRFIHF, NIRE] True
NRFRFRNEEFE, MIRE] True
NRFRIBNEEHF, MIRE] True
RE True RFFFEREBBAFTRFF
NRFFEEIVNG, WHRE] True
INRFFEBNRBNIRE] True

SNERFAFER(NEETE, NIRME] True

>>> s = “welcome to python”
>>> s. isalnum()

False

>>> “Welcome”. isalpha ()
True

>>> 720127, isdigit ()

True

>>> “first Number”. isidentifier ()
False

>>> s. islower ()

True

>>> “WELCOME”. isupper ()
True

>>> 7 \t”. isspace ()

True

P 5

)

s = “welcome to python”

print (s. isalnum())

print ("Welcome”. isalpha())

print ("2012”. isdigit())

print (“first Number”. isidentifier())
print (s. islower ())

print ("WELCOME”. isupper ())

print (" \t”.isspace())

11 8FF5H
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HiEBR

endwith(sl: str): bool WNRZFERUUFZHE <1 52, NRE True

F5i%iRAR

startswith(sl: str):

bool

count (s: str): int

find(sl): int

rfind(sl): int

>0 s
>>7 s.
True
>>> s.
False
>>7 s.
3

> s.
-1
>> s.
15
>0 s.
3

>

SNERFFFEBLAF TR o Frk, WERE] True

5

By ER e F TR H AR EY

5

m *

= "welcome to python”

endswith(“thon”)

startswith (“good”)

find (“come”)

find (“become”)

rfind(“0”)

count (“0”)

s = "welcome to python”

print (s. endswith (" thon”))

print (s. startswith(“good”))

print (s. find (“come”))

print (s. find ("become”))

print (s. rfind (“"0”))

print (s. count ("0”))

12 §EIRF TR

BIFFFERA 1 BIndtNRRERS |, NREAZIFRFENIRE -1
FRET o NRRUEREIRSERS, NERKAZFRFEN
-1
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HiEBR

capitalize(): str

lower () : str

uppor(): str

title(): str

swapcase () : str

replace (old, new): str

Do Do Do yel
© o0 =N O

s = “string in python”
>>>

>>> sl = s.capitalize()
>>> sl

’String in python’

>0

> s2 = s title()

>>> 82

>String In Python’

>0

>>> s = "This Is Test”
>>> 83 = s. lower ()

>>> s3

"this is test’

>

>>> s4 = s.upper ()

o> s4

"THIS IS TEST

>0

>>> sb = s. swapcase ()
>>> sb

“tHIS iS tEST

>0

Hixistn

REILCFFFRIREIR, XE—NFHAE.

BN F RN/ NERIREIF AT

BTSN RN KEFRREF TR
AEFFFHEPE N REANEFEFRREFFTEH

RE—1NFFFER, ERNEFREIRARE, K

I EREEIT P A SR S I | B AT ER Y MBSO R B = AT R

SRS g SN

>>> s6 = s.replace("Is”, “Was”)

>>> sb

"This Was Test’
>>>

>>> s

This Is Test’

>0

s = “string in python”

sl = s.capitalize()

print (s1)

s2 = s. title()
print (s2)

s = “This Is Test”

s3 = s. lower ()



12 print (s3)

14 s4 = s.upper()
15 print (s4)

17 sb = s. swapcase ()

18 print (sb)

20 s6 = s.replace("Is”, "Was”)

2
21 print (s6)
)

2
23 print (s)

BUE FIR

FIZRSKEAZ python RITIZRFEEMNZ—FFFIZEE, FIRAFELAFEREBAISIUAN, MPRZGbIE
TTR. FIRSEEIFERELL.

1 £ python HAgIEE%IZE

ERILMERLIMERCIES IR,

1 »>1=1[1, 2, 3, 4]
2

b, PIRPNBNTREAES SR, FRE—XLES (1) 8. FIFRPITRTLIZEERRE
BCRESRE, fln:

1 12 = [“this is a string”, 12]
9

BUEEFIRAEMS .
1 listl = list() # Create an empty list
2 1ist2 = list([22, 31, 61]) # Create a list with elements 22, 31, 61

list3 = list([“tom”, “jerry”, ”“spyke”]) # Create a list with strings

)
4 list5 = list(“python”) # Create a list with characters p, y, t, h, o, n
B!

e T

FIREAIZAY,

2 iplA5IRPRITTR

ERILMERZRSIEEA (1) BAyERPISEI TR, JIRRSIN 0 Fa.


af://n100
af://n463
af://n473

1 »> 1 =1[1,2,3,4,5]

2 >>> 1[1] # access second element in the list

3 2
4 >>> 1[0] # access first element in the list
5 1

6

3 BRSIRIEE

HiEai 1343

x in s SNRTTER « 7RG s B, WA True , BRA False
X not in s NERITER « AMEFF s 1, WA True , BRA False
sl + s2 EERAFS s1 F0 s2

s*n, nxs EREFS s B9 0 NEIAR

s[i] 5 s B958 | NTE,

len(s) F5 s BIKE, EMETREE.

min (s) FF5 s /TR,

max (s) FF5l s PERARITTER.

sum(s) FF5 s sRETEEFET.

for &3 i for IEIRPNERIGIEHTTE.

4 FIREE B

1 > listl = [2, 3, 4, 1, 32]
2 >>> 2 in listl

3 True

4 >>> 33 not in listl

5 True

6 >>> len(listl) # find the number of elements in the list
7 5

8 >>> max(listl) # find the largest element in the list

9 32

10 >>> min(listl) # find the smallest element in the list
11 1
12 >>> sum(listl) # sum of elements in the list

13 42
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55FRNA

PREER ([start:end] ) RFMFIRPIREFIIR. CROTIEREXUTFRE.

1 >>> list = [11, 33, 44, 66, 788, 1]

2 >>> 1list[0:5] # this will return list starting from index 0 to index 4
3 [11, 33, 44, 66, 788]

4

1 >>> list[:3]

2 [11, 33, 44]

RIATFHRIER start BIRSIRAER, WMREHK, B,

1 >>> list[2:]
2 [44, 66, 788, 1]

end R [HETER, INREME, BEHRENTERNREE—1NES.
e T

NSRS start o= end , M listlstart : end] FHRE-MTFIR, R end IEEAINEBHFIZRAY
end , R Python J&{EFR end RIFIZRIKEE.

6 FURFRRY + Fl + iEHFF

- BEAIIAENIE.

1 >>> listl = [11, 33]

2 > list2 = [1, 9]

>>> 1ist3 = listl + list2
>>> 1ist3

[11, 33, 1, 9]

(o2} o1 L w

« BARRFEHIFIRPIITTE.

>>> listd = [1, 2, 3, 4]

>>> lists = list4 * 3

>>> listb

(1, 2, 3, 4, 1, 2, 3, 4, 1, 2, 3, 4]

N =

(2 BTG V)

7 inggnot inIizEFGF

in EEMATHRERPESHFETR. BIINRE True ; KEMIRE False ,

1 >>> listl = [11, 22, 44, 16, 77, 98]
2 >>> 22 in listl
4

True
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BE#E, not in 5 in ZEAFHER.

>>> 22 not in listl

8 {EF for FEMMERTIER

SORiRAmA, FIRR—NFIIFHBEREERN. BEWEEHLUER o BERNERYIRNIETE.

>>> list = [1,2,3,4,5]

1

2 >>> for i in list:

3 ... print(i, end=" ")
4 12345

5

9 WRFIRGEIRMOE

Hix ik

append (x: object):
e (ncfhEoY FEBIEARERINTEE « FHEE None .

None

count (x: object): int  IREITGER x TEFIRPHIANREL,

append (1: list): None ¥ | RAIRFAEITERMIIIZEIZIZRHPFHIRE None ,

index (x: object): int IREFIFRPERBIAITTER « IES|

insert(index: int, x:  TEAERSMMENTE x. BIR, JIRPNE—NTREERS 0

object) : None #J\EIEI None ,

remove (x: object) :

MFIRPRIPREB—IREHIMAITTE « FHRE] None

None
reverse () : None &E%ﬁﬂ%#i&lﬁl None
sort(): None B XI5 RPRITTRIF THEFFIRE] None ,

MR ERTRAREE. 241 2aiE. WRKEE, N
pop O MBFFHREIFRFRIRE—TITE.

pop(i): object

copy () :object ﬁ@—/l\g%_u
clear() BIRFIBITE del al:]

list. extend (iterable) {ERAAERNRPRETITERET RYIE.

1 >>> listl = [2, 3, 4, 1, 32, 4]
2 >>> listl. append(19)

3 >>> listl

1 [2, 3, 4, 1, 32, 4, 19]

5 >>> listl. count(4) # Return the count for number 4
6 2

7 >> list2 = [99, 54]


af://n538
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8 >>> listl. extend(1ist2)

9 >>> listl

10 [2, 3, 4, 1, 32, 4, 19, 99, 54]

11 >>> listl. index(4) # Return the index of number 4

12 2

13 >>> listl.insert(1, 25) # Insert 25 at position index 1
14 >>> listl

15 (2, 25, 3, 4, 1, 32, 4, 19, 99, 54]

16 >>>

17 >>> listl = [2, 25, 3, 4, 1, 32, 4, 19, 99, 54]

18 >>> listl. pop(2)

19 3

20 >>> listl
21 [2, 25, 4, 1, 32, 4, 19, 99, 54]
22 >>> 1listl. pop()

24 >>> listl

25 [2, 25, 4, 1, 32, 4, 19, 99]

26 >>> listl. remove (32) # Remove number 32
27 >>> listl

28 [2, 25, 4, 1, 4, 19, 99]

29 >>> listl.reverse() # Reverse the list
30 >>> listl

31 [99, 19, 4, 1, 4, 25, 2]

32 >>> listl.sort() # Sort the list

B8 >>> listl

34 [1, 2, 4, 4, 19, 25, 99]

55 >

10 FIFIESI

FE
ARERFEESF Python TEI BIFEREXIR,

FRIBRACETFRM T —FEEGE. CHEARAANGIESERN, BIR for 74, AREE
NS for B if FEI,
XEBEHLHF:

1 >>> listl = [ x for x in range(10) ]

2 >>> listl
3 (o, 1, 2, 3, 4, 5, 6, 7, 8, 9]

4 >>>

5 >0

6 >»> list2 = [ x + 1 for x in range (10) ]

7 >>> list2

8 [1, 2, 3, 4, 5, 6, 7, 8 9, 10]

9 >

10 >

11 >>> 1list3 = [ x for x in range(10) if x % 2 == 0 |

12 >>> 1ist3

13 [0, 2, 4, 6, 8]

14 >0

15 >>>

16 >>> list4 = [ x *2 for x in range(10) if x % 2 == 0 ]


af://n585
http://loops/

17 [0, 4, 8, 12, 16]
18

11 FUZR{EtR(ER

PIRTTEEBIIRIENERAFESRS, Re—MEA, &ElE (BHEY") . BER— TR
AR, (A8 append() . EMMEERTRERENE—TTER, R pop() , ARISERSI. AN

>0

»>> stack = [3, 4, 5]
>>> stack. append (6)
>>> stack. append (7)
>>> stack

6 [3, 4, 5, 6, 7]

7 >>> stack. pop ()

(@3] > w Do —_

8 7

9 >>> stack

10 [3, 4, 5, 6]
11 >>> stack. pop ()
12 6

13 >>> stack. pop ()
14 &

15 >>> stack

16 [3, 4]

12 5UZR{EAPAFI(EF

FIFRBETLARBEISY, EAhIemNBITRMaRIei (Sotsct”); AMFIRBIEXBAE SRR
EAEFIRAARRRINFIEEHTRIFER, EEAFIRIFMENSGRHTRIRE (RFERIEMTT
SEBIFE 1),

LESTH—BASY, BIfEA collections.deque, E#IR TR LAPERBM Fima N8 H TR, B0

1 >>> from collections import deque
2 >>> queue = deque([”Eric”, ”“John”, “Michael”])

3 >>> queue. append (“Terry”) # Terry arrives

| >>> queue. append (“Graham”) # Graham arrives

5 >>> queue. popleft () # The first to arrive now leaves

6 "Eric’

7 >>> queue. popleft () # The second to arrive now leaves

8 > John’

9 >>> queue # Remaining queue in order of arrival

10 deque (["Michael’, ’Terry’ , ’Graham ])

FELE—F python $EEY, BT MEREN. CEGILGERARRERER, F0, Mk, EXUE.
FHSHAWERMIES _ EARAXEEUERNISHIIIEEEL

i

£3

TR AR

fm
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1 glEsEa

ALMER—AES () S, FHEPNSIMRERHE—ME, —ES, —MEAM. 81
IMBEMES (. ) DR, FNEMIF.

1 friends = |
“tom” : ’111-222-333,
" jerry : 666-33-111

XE& friends EERMRENTH, FEIEN—RE, BUARTRENRE, BRETLREM[SE
B, FHPISMEEGZERE—.

1 >>> dict_emp = {} # this will create an empty dictionary

o dict() MIEREFTLAERNRBIEXS 7Y EelE i,

1 >0
2 >>> dict ([ sape’, 4139), (guido’, 4127), ( jack’, 4098)])
3 (" sape’ : 4139, ’guido’ : 4127, ’jack’ : 4098}

o It5h, FEESTATLUMESARERIATF el

1 >0
2 >>> {x: x#%k2 for x in (2, 4, 6)}
3 {2: 4, 4: 16, 6: 36}

SXRBFEERAFHEN, SNERBETXREFSEHIEERENESE

>>>
>>> dict(sape=4139, guido=4127, jack=4098)
{’ sape’ : 4139, ’guido’ : 4127, ’ jack’ : 4098}

w [\ —

218, (ENEFEPRRMTE

ENFHPIREINE, BERAUTNEE:

1 >>> dictionary namel[ key’ ]

1 >>> friends[’ tom’ ]
2 > 111-222-333°
3

NRFHPFER, WSIRENE, BUSSIK kevirror BE, ERINSIENNE, BERLINEX:

1 >>> dictionary name[ newkey ] = ’newvalue’

[\

1 >>> friends[ bob’ ] = *888-999-666
2 >>> friends
{ tom” : " 111-222-333", ’bob’ : ’888-999-666", ’ jerry : ’666-33-111"}


af://n617
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3 M ELRIFRIRE

1 >>> del dictionary namel[ key’ ]

1 > del friends[ bob’ ]
2 >>>  friends
3 { tom’ : " 111-222-333", ’ jerry : ’666-33-111"}

SIS, WIZREE R, BUSHE Kovbror S,
4 & hHF PRI E

ERILAGER for BB FEFRITTER.

1 >>> friends = {

2 ... “tom : '111-222-333

3 ... jerry : ’666-33-111

L L)

® >0

6 >>> for key in friends:

7 o print (key, ”:”, friends[key])
8

9 tom : 111-222-333
10 jerry : 666-33-111
11 >0
12 >

5 ik FHRNKE

SR LAER 1en () REIERFHANSE,

1 >>> len(friends)
2 2

6 inFlnot inIZEFF

in#l not in IZEMEEFZHPERFERE.

1 >>> ' tom’ in friends
2 True
3 >>> " tom’ not in friends

1 False


af://n643
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7 FEIFRRITESFNI

= - ERFSFFHESESEENTIE.

1 >>> dl = {"mike”:41, “bob”:3}
2 >>> d2 = {"bob”:3, “mike”:41}

3 >>> dl ==
Z True
5 >>> dl = d2
6 False
7 >>>
8
eI

B geER <, >, =, - EHMMXREERERIVIRTH,
8 FHAEL

Python 124t 7 JUF N ERV75i AR R 2L,

hi& g

bopiten() EEFETRSERONE, FHBAATE.

clear() ks EPRFERNE

keys () LAtAfZ iR Al B a5

values () LT UR [EF ERAE

get (key) HRORENE, WRIAZRE, WIRE] None , MARS|AK KeyError FE
pop (key) MNFEPRBRZINE , SNRKAZIZE, WSHE KeyError

1 >>> friends = { tom’ : ~111-222-333", ’bob’ : ’888-999-666", ’ jerry : ~666-33-111"}
2 >>>

3 >>> friends. popitem()

! Ctom’, 111-222-333")

® >0

6 >>> friends. clear ()

7 >0

8 >>>  friends

g {}
10 >>>

11 >>> friends = { tom’ : ’111-222-333’, ’bob’ : ’888-999-666", ’ jerry : ’666-33-111"}
12 >0

13 >>> friends. keys ()
14 dict_keys ([’ tom’, ’bob’, ’jerry 1)

15 >0

16 >>> friends. values ()
17 dict_values ([’ 111-222-333", ’888-999-666", ’666-33-111"1])

18 >0

19 >>> friends. get (" tom)
20 111-222-333’


af://n660
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21 >0
22 >>> friends. get (mike’, ’Not Exists’)

23 "Not Exists’

24 >0

25 >>> friends. pop (' bob’)
26 ’ 888-999-666’

27 >

28 >>> friends
29 {tom” : " 111-222-333", ’ jerry : ’666-33-111"}

- —
ﬁ%uiﬂﬂi
£ Python 1, TTESFIFIEEEM, EE2—BRETTTAH, MITERN, Wk, SENEFHFTE.

TS

TTRRARZHY,

1 gIE—1

1 >>> tl = () # creates an empty tuple with no data

2 >0

3 >> 12 = (11, 22, 33)

4 >0

5 >>> t3 = tuple([1,2,3,4,4]) # tuple from array
6 >0

7 >>> t4 = tuple ("abc”) # tuple from string

8

2 JoeHIERE]

TCEBALUER nax O, win( , len() F sun() Z3RAIREL,

| >»> tl = (1, 12, 55, 12, 81)
2 >>> min(t1)

3 1

4 >>> max (t1)
® 81

6 >>> sum(tl)
7 161

8 > len(tl)
9 5


af://n104
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3 FolAiER

TCAHBIERA for ERHITIER, EUALTREBRX for ERRIEZEE.
1 >»>> t = (11, 22, 33, 44, 55)
2 >>> for i in t:
3 print (i, end=" ")
4 >>> 11 22 33 44 55

5

4R R

P RsBAET AR ERSESIRMF AR ERER.

1 >>> t = (11,22, 33, 44, 55)
2 >>> £[0:2]
3 (11, 22)
|

5 inFflnot iniZEF

TERILAGER in #0 not in EEFMGETTATIRIEFE, N TAR.

> t = (11, 22,33, 44, 55)

1

2 >>> 22 in t

3 True

4 >>> 22 not in t

5 False

6

—

EFEtEES

PythonttBEH &5 KB, EEEAFEETRANNITHFNE. CHEARZEERRIGNTERE
SRR, EENREIFHE G, &, 5, NWRESFHFEE.

IESEL set() BETLARESEES. I8 BEE—TESIRREEA set) MABER §, BNEER
BT, XMEIREHEINSE T —HETITe.

LA 22— L& sR9745)

1 >>>

2 >>> basket = {"apple’, ’orange’, ’apple’, 'pear’, ’orange’, 'banana’}

3 >>> print (basket) # show that duplicates have been removed
4 {’ orange’, ’banana’, 'pear’,  apple’}

5 >>> ’orange’ in basket # fast membership testing

6 True

7 >>> ’crabgrass’ in basket

8 False

©


af://n711
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10 >>> # Demonstrate set operations on unique letters from two words

12 >>> a = set(’ abracadabra’)

13 >>> b = set( alacazam’ )

14 >>> a

15 {a, 'r’, ’b, ¢, 'd}

16 >>>a-b

17 {r, ’d, 'b}

18  >>alb

19 a, ¢, ', ’d, v, 'n, 72, 1}

20 >>>ad&b

21 {a, ¢}
22 >>a b
93 vy, a0y, w2, 1)

KT FIFEHESIN, SEEHIFHESIUT

1 >>>
2 >>> a = {x for x in ~abracadabra’ if x not in ’abc’}
3 > a

4 Psd, 26P]

B\ & SR BIER

# unique letters in a

# letters

# letters

# letters

# letters

in a but not in b

in a or b or both

in both a and b

in a or b but not both

@R, BLRER—IREREIRRBEIRN S —IRE, HRRBIRIRARSREIRIR,

135 int 85 f1oat

BE int IR float , ATLMER float () RREL,

1 >>> 1 =10
2 >>> float (i)
3 10.0

248 float &R int

N5 tloat FtRA int , BHRBEM int O REL

I > f=14.66
2 O int(f)
30 14


af://n743
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3 RBFITERERIA int

B string #8409 int , BERA int O REL

1 >»> s = 71237
2 >>> int(s)

3 123

4

1=

MNRFFEESIEHEER, U int O B3|%& valueError FE,

4 BEFEIRAFIH

B FREIRATRER, B s () REL

1 >>> i =100
2 >>> str(i)
”100”

> f=1.3
str(f)

1.3

N O Ol R W

5 BNHF

OERANHFEIET round ) ERESSAY.
iBE: round(number[, ndigits])
>>> 1 = 23.97312

1
2 >>> round (i, 2)
3 23.97

%11.5 ; *“i)l

1ifigf)
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1 >>> x = int (input ("Please enter an integer: ”))

2 Please enter an integer: 42

3 >>> if x < 0:

1 ce. x=0

5 . print ( Negative changed to zero’)
6 ... elif x = 0:

7 .. print C Zero)

8 ...oelif x ==

9 o print C Single’)

10 ... else:

11 . print C More’)

12
13 More
2 forigF6)

SHESFFIHTIENR (FlaiFIReEFFrER) . FERNERINFSEIHERFSHHIMAIRF—.

1 >>> # Measure some strings:

2 . words = ["cat’, ’window , ’defenestrate’]
3 >>> for w in words:

4 o print (w, len(w))

5

6 cat 3

7 window 6

8 defenestrate 12

iR E— M EAIMESIZESIIE T REREEREIERIER, BE, EERMEREREDZE
BRRIAEEIRMES:

1 # Strategy: Iterate over a copy
2 for user, status in users.copy().items():
3 if status == ' inactive :

| del usersluser]

6 # Strategy: Create a new collection

7 active users = {}

8 for user, status in users.items():

9 if status == "active’ :

10 active users[user] = status

3 elsefBAiIER)

try IEAPFH else FASTERKEREIHIT, MEAPTH else FANSTERALE break BHAIT.
BINEEIRETHR else 70, EREEAFERTANAR (EA for) BIEAZMZZNIRIE (R while)
BT, (BEARSTEIEIMK break IBRZRLERIHIAIT,

1 >>> for n in range (2, 10):

2 o for x in range(2, n):

3 R ifn%x ==0:

4 o print(n, 'equals’, x, '*, n//x)
5 ce. break

6 ce. else:

7 - # loop fell through without finding a factor

8 o print(n, ' is a prime number’)


af://n789
af://n794

© 0 N O Ol R W N

equals 2 * 2

equals 2 * 3

4 breakiEf]
break I5G, #C HAISEML, FBFHEHEITAY for B while fEIA.

5 continueiEf)

is a prime number

is a prime number

is a prime number

is a prime number

equals 2 * 4
equals 3 * 3

continue IBEHHEMBER C1BS, JMREEIAPITIRER:

1 >>> for num in range (2, 10):

2

3

1

5

6 Found
7 Found
8 Found
g Found
10 Found
11 Found
12 Found
13 Found

an

an

an

an

an

an

an

an

6 passigf
pass IBOH AL, LiEE FEE—NEG, BEFEENATELANE, TLEEE. H:

1 >0

2 >>> while True:

BE HEy

1 EXFHE

if num % 2 ==

print ("Found an even number”, num)

continue

print ("Found an odd number”, num)

even number 2

odd number 3

even number 4

odd number 5

even number 6

odd number 7

even number 8

odd number 9

pass

# Busy-wait for keyboard interrupt (Ctrl+C)


af://n797
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>>> def fib(n): # write Fibonacci series up to n
””Print a Fibonacci series up to n.”””
a, b=0, 1
while a < n:

print(a, end=" )

6 a, b = b, atb
7 print ()
8
9 >>> # Now call the function we just defined:
10 . £ib(2000)
11 01123581321 345589 144 233 377 610 987 1597
SRR |G,

KT def SIN—PREEN. EUNRIRRHSHAHESHEASHIIR. WRREFIED
NT—17Fa, FEYRGEE,

FREWARIE—METILL (FNIERY) BFFFEHRNTF. ARERMNE

BREH HUT REINTRTRYEHLERFFTSER. ERiiithin, REPRENEERERS
FREEBEATSERT; MEESIASEERIASRTER, RAeRINERBFTHHFESER, B
RERERFSER, RRENESRITS

EREHBIARRT, SChRSE (£2) K%&gl)\%&ﬂﬁ%uﬂﬁﬁzﬁﬂﬁ’“—’}?iﬂlﬂ Eit, L2\ RE
AR EEN (A EREENR 5IAMARNSAE) . 1 A— P REERRIM IR, &
SNZEALIR— MR AT SR,

2 BASH(AESE) (BEEN)

1
2
3
1
5

10
11

def ask ok (prompt, retries=4, reminder= Please try again!’):
while True:
ok = input (prompt)
if ok in Cy’, "ye', ’yes’):
return True
if ok in Cn’, 'no’, ’nop’, ’nope ):
return False
retries = retries — 1
if retries < 0:
raise ValueError C invalid user response’)

print (reminder)

XA REETLAEE U7 CIE F:

N O U1 R W DN =

REEHMTERISEL: ask_ok('Do you really want to quit?')
BH—PMENERISEL: ask_ok('OK to overwrite the file?', 2)
EBEFTEHISEL: ask_ok('OK to overwrite the file?, 2, 'Come on, only yes or no!")

EYNGEINIC S

def f(a, L=[1):
L. append (a)

return L

print (£(1))
print (f(2))
print (£ (3))
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3(UBESHMXEFSH (BLRAR)
RTLMERIAN kwarg=value {) XHEFSH SRR, HINTFEAIEL:

1 def parrot(voltage, state="a stiff’, action= voom’, type= Norwegian Blue’):
2 print ("—— This parrot wouldn’t”, action, end=" )

3 print ("if you put”, voltage, “volts through it.”)

4 print ("— Lovely plumage, the”, type)

5 print ("— It’s”, state, "!7)

BE—IMERNSEL (voltage) FI=NNANEAISEL (state, action, Ftype) . XANREATLUED
{FHa—F 75 =R

TER

1 parrot (1000) # 1 positional argument
2 parrot (voltage=1000) # 1 keyword argument

3 parrot (voltage=1000000, action="VOOOOOM ) # 2 keyword arguments

4 parrot (action="VOOOOOM , voltage=1000000) # 2 keyword arguments

5 parrot (a million’, ’bereft of life’, ’ jump’) # 3 positional arguments

6 parrot ( a thousand’, state= pushing up the daisies’) # 1 positional, 1 keyword

(BT ERIREERE R TTRAT:

1 parrot () # required argument missing
2 parrot (voltage=5.0, ' dead’) # non—keyword argument after a keyword argument
3 parrot (110, voltage=220) # duplicate value for the same argument

4 parrot (actor="John Cleese’)  # unknown keyword argument

o EREUERT, XEFSHVREEMESLHREE.

- EBIAXEFSHMESREIEZEFT— ST (Fbgd actor 2R EL parrot IS

), BiNRFEHAEE.
« FRENE— I SHEREE.

4255 (BHEN)

SEFE—AA snae RIRE—IMEEHR, ESBRE—FH , EPE3RTSEEHSHEIMNATY

RKEFSHLOMITE R TS

RALAS—MEA ane , BR—MEERT EBHSIIRUIMINESEN Th HFZSEGER

(*name W/RHILFE **name Z I, )

BN, WNRFNITXEE N —PREL

1 def cheeseshop (kind, *arguments, **keywords) :

2 print ("— Do you have any”, kind, ”?”)

3 print("— I’m sorry, we’ re all out of”, kind)
4 for arg in arguments:

5 print (arg)

6 print ("= * 40)

7 for kw in keywords:

8 print (kw, “:”, keywords[kw])

EALURIXERR:


af://n836
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1 cheeseshop (“Limburger”, ”It’s very runny, sir.”,

2 “1t’s really very, VERY runny, sir.”,
shopkeeper="Michael Palin”
client="John Cleese”,

sketch="Cheese Shop Sketch”)

(S} IS w

SRERFTED:

—— Do you have any Limburger ?

1

2 — I'm sorry, we're all out of Limburger
3 It’s very runny, sir

4 It’s really very, VERY runny, sir.

5

6 shopkeeper : Michael Palin

7 client : John Cleese

8 sketch : Cheese Shop Sketch

IR TENRS REFSHRIFRIE S TR AR ERHRH e IRIF280CECHT.

5 5SS (BEEN)

AMBRT, RENSHEEIAIURNESHERERRNXBEFSH, N THRAEMERIZI T
R, REAITFRISEEEIAREENN, XFFAERFTEERHE X AITHESHINEEME.
BUELERET, BEIEREFEE.

FRERIE X BRI UG RXE:

1 def f(posl, pos2, /, pos or kwd, *, kwdl, kwd2):

| Positional or keyword

(S} >~ w Do

| — Keyword only

6 —— Positional only

o /30 BHER. RERXEFFSURIAR LSBT IS HESEERE: (PRVE.
BaKET, URMNRXET. XRFHESUHRIRAmERE.
o MRAEENXPARER /1, WSEETLURUESIRREFEBLREL.

5.1 ERERSEH)
- EEBUTRPIREESGHSRIER / F0* FRe:

>0
>>> def standard arg(arg):
print (arg)

>>> def pos only arg(arg, /):
print (arg)

[oe] 3 (o)) ol =S wW Do —_

>>> def kwd only arg(k, arg):

print (arg)

>>> def combined example(pos only, /, standard, *, kwd only):

—_ =
Do =

print (pos only, standard, kwd only)

o F—PEREEN standard_arg ERENAZ, REASNRBEMERE, SEETLURMEBALL
BRBEFEN:


af://n860
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1 >0
2 >>> standard arg(2)
3 2

>>> standard arg(arg=2)
6 2

(S}

o FBTNEREL pos_only_arg ERELENHHE /., REUUERMERS. -
1 >>>
2 >>> pos_only arg(l)

3 1

5 >>> pos_only arg(arg=1)

6 Traceback (most recent call last):
7 File “<stdin>”, line 1, in <module>
8 TypeError: pos only arg() got an unexpected keyword argument ' arg’

o FE=/NRET kwd_only_args TERECE X BT * IEER(NIF LTS

1 >o>
2 >>> kwd only arg(3)
3 Traceback (most recent call last):

| File “"<stdin>”, line 1, in <module>

5 TypeError: kwd only arg() takes 0 positional arguments but 1 was given

7 >>> kwd only arg(arg=3)
8 3

o MERE—MER—REEXPERT 2M=MERS:

1 >0

2 >>> combined example (1, 2, 3)

3 Traceback (most recent call last):

4 File “"<stdin>”, line 1, in <module>

® TypeError: combined example() takes 2 positional arguments but 3 were given

7 >>> combined example (1, 2, kwd only=3)
8 123

10 >>> combined example (1, standard=2, kwd only=3)
11 123

13 >>> combined example (pos only=1, standard=2, kwd only=3)

14 Traceback (most recent call last):
15 File "<stdin>”, line 1, in <module>
16 TypeError: combined example() got an unexpected keyword argument "pos only’

s BfE, BERXMREGEN, BESE name f1 **kwds Z[BIHFFAEXEFTHFR name M 88

PRI
1 def foo(name, s**kwds) :
2 return 'name’ in kwds

HEVEFREATRELLEIRE True, BEAXKEF 'name' BLEZHERBE S, Hlan:



1 >

2 >>> foo(l, *x{ name : 2})

3 Traceback (most recent call last):

4 File “<stdin>”, line 1, in <module>

5 TypeError: foo() got multiple values for argument " name’
6 >>>

o (B / (XBREIESE) MaTseEl, EABRITF name (EAMESE, AU name (EAXEF
SHRIKEF BN

def foo(name, /, **kwds) :

>>> foo(l, **{ name’: 2})

1
2 return ~name’ in kwds
3
1 True

o HREIEY, (NBRMZEFSAIBIRAILIE “kwds REERMAFELE N,

5.2 [EBES

o NMRIFHFEFSBIRGEPRRATE, WERMRMERS. XEBRTHEESERIELRENY,
DR E(REEEFHERENNSHINF, sEFERMIEsE —‘tbuﬁﬁé THERKEFHSES
e

o ZSEMBLRRN, UKEIEEHSBRFREEN EZIER, SE S FEERLLERFE
FRBIENSERIIERT, AJEFH&BE?E&—T—%

o XTFAPIZKRIR, ERNRAERSHLBLES %%’T FRRARNE BAHE IR ERY AP 225

6 FESHIIR (RLER)

LB HELEFIRSTENEENTERMUESHNREARREEN, akEERNER. Fln, A
B range() BRETFEERIMAY start § stop S50, MR E(IAFEERINGER, mTLAFER * BIERT KRS REL
ERLMENT RS TET RS

1 >

2 >>> list(range (3, 6)) # normal call with separate arguments

3 [3, 4, 5]

4 >>> args = [3, 6]

5 >>> list(range (xargs)) # call with arguments unpacked from a list
6 (3, 4, 5]

RIS, FHAER BT RIEHKEF S

1 >>>

2 >>> def parrot (voltage, state="a stiff’, action= voom ) :

3 print ("— This parrot wouldn’t”, action, end=" )

4 print ("if you put”, voltage, “volts through it.”, end=" )

5 print ("E's”, state, ”!”)

6

7 >>> d = {"voltage”: “four million”, “state”: “bleedin’ demised”, “action”: ”“VOOM”}
8 >>> parrot (#kd)

o)

— This parrot wouldn’ t VOOM if you put four million volts through it. E’s bleedin’ demised !

eI TESEHINFESEGHITHRE, SEXNEGSHAIREUERIN.
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7 LambdaZRirzl, (BRETEN)

BJLARS lambda KEFREE—NMNNERRE, XPDREREFEMSEAIF: lambda a, b: a+b .
Lambdalf_léﬂl_IL)J_ FERHIRAEEOSER. BEEELRTREMRE. A XJ:EELEE (=N
REEBERBENINEEE. SHRERIEN—HF, lambdaiRE{mILAS | SEHIZE

>0

>>> def make incrementor (n) :

DN =

return lambda x: x + n

>>> f = make_incrementor (42)

oo | (o2} ()] =~ w

>>> £(0)

42

> £(1)
9 43

FH—EF %
B
o BT MESEIRTITRENSE. SIE—NERERECE— ORISR K8, Nmnirel

B—MZSEERIF L0 ﬂﬁ‘éﬂ’];&@]‘ﬂlﬁﬁﬁ?‘ﬁ SREHENE. — P RAILFIBAT BN
TEHOKRESH (BEXTEEPH) T5iE

o EYEAFIRIFSNESR, IREXTUBSEERNEAITE, — I LIERERPHEERTR
AIR9TTIE. RIS SETEHEMSERIEGE. MER—FF, XthiAE Python RARIZNESAF
t: elEsTielE, TLERIREEEK.

| RAEEEXRNNRASEETRELE, RARNEINNSR, FRITFEHIEEX.

1 FIRFNR
WEREEME, SR (ESAMEBER) TUSEIE— R, XEEE= RIS

| TEFHNRNGIAE. NRTREASHGEN, (EGRORNRI3IA,
2 REXNEE
BERIRTE BRI

1 class ClassName:

2 {statement—1>
3

1

5

6 {statement—N>


af://n918
af://n923
af://n935
af://n939

3 EAWIR
SRR TIRNEIE: IS | FIRISSEL.
EME|E

B35 F8 £F8 Python HRRTEJEMES | BRTEFRITREIEIE: obj.name, BIRIBMERIRZRISANEIERT
FHETRpBTETHMEER. B, REEEXER:

1 class MyClass:

2 ”””A simple example class”””
3 i = 12345

4

5 def f(self):

6 return hello world’

AB4 MyClass.i 7] MyClass.f i2BXHIRMS A, FoBIRE—PEEFM—MREIR. KEMEBALL
HIME, ELATLUBIESRESRER MyClass.i RI{E,

Sl

RAY SEH EREREFRE. JLUERSRMARREIZEAI— M HLhIR TS ERIRE. 26K
i (RIREEALARRI) -

x = MyClass()
BUFEEZERYHT L FELXIR D ELLEEPEE X,

SLHMCRIE (BRATENSR) SEE—ITUR. FSEEREETERENRINSHBEENER. 7
RN ATREEE—NEA init() FIRRAE, FiGXHE:

1 def init  (self):
2 self.data = []

S—RENT init() I5iERS, KO FR BRI CIERISELAILERA init(). BELEXNR
Bieh, AILAEE LA MEQIRIE— MR IRIFLS):

1 x = MyClass ()

S, init() AR LUBIUIMSHUSLHESRIEE. EXMER T, REESELFNIEEMISEH
&g init(). a0,

1 >0
>>> class Complex:

w Do

def init (self, realpart, imagpart):
1 - self.r = realpart

5 ... self. i = imagpart
>>> x = Complex (3.0, —4.5)

7
8 >0 xr, X1
9 (3.0, —4.5)

4 48R
LR, WMBEASTHFRIR, BSIFUMAMBESIRA R, IRERXENINE XN =
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1 class DerivedClassName (BaseClassName) :

2 {statement—1>

6 {statement—-N>

F#R BaseClassName WAIE X TR EIRESEXAHERESF. EATFREMESREINEESERTRM
ERMUE. XAEREARESEEL, flal, SERENER—MERPAIRHE:

1 class DerivedClassName (modname. BaseClassName) :

5 SEHK
Pythonth ST — TS EMkR, BESNERNRE N EGN TS

class DerivedClassName (Basel, Base2, Base3):

1
2 {statement—1>
|
5
6 {statement—-N>
P —%
6 FABEE

BRFR PR A — IR ERIGIEIRY FAR " SLBIZEHE Python AHAFE, BR, KZE Python BERE
BEXE—E: TE— N TIZBIETR (BI20 _spam) ROZE=SFR AP HEAEESD (TIRTREHE.
TR EIEAR), XN EEARA— ST, AIREREEAIEDINLAKZE.

HTFEFENTRIABRRINERERRSE (GRS ESTFERMEXNEFRETZR) |, RHFETLL
FMHNEINERSZRE, FRA BREE. HEFA spam BIRIRE (EVHFEBRIIRTRIEZ, E2—1
BETRE) BXFIGEEIR _classnamespam, HA classname AER T HISK FRIZAIZHFIRE
R, XMHEAREEIRRANGEE, RECHWELEE Y WEPHEHET.

BRI SR TLFREHITAMAEIAERTTIEEM. Fn:

1 class Mapping:

2 def init (self, iterable):
self.items list = []
self. update(iterable)

(@3] = w

def update(self, iterable):

for item in iterable:

o =

self.items list.append(item)

©

o

~_update = update # private copy of original update() method

class MappingSubclass (Mapping) :

def update(self, keys, values):

# provides new signature for update ()

(o)) (S} >~ w Do —

# but does not break init ()

] G U

for item in zip(keys, values):

—
co =

self.items_list. append (item)
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7ifte
ZFIBATALL, EERERIREIASHERIRELUER for IFG:

1

for element in [1, 2, 3]:
print (element)
for element in (1, 2, 3):
print (element)
for key in {"one’ :1, ’two :2}:
print (key)
for char in ”"123”:
print (char)
for line in open(“myfile. txt”):

print (1ine, end="")

XFARIXAE S, EEXAE. ERENERIEEZIEFES Python BA—MI—RIEIK, TR
&, for BOSERENSR LB iter(), 1ZREUREI—NENT next() FiARBERESNSR, WHIEEE
—ihiAEEFHITE. HoEARES, next() 5E5|& Stoplteration FERIBALRILLE for 18R, {RATLAGE
F8 next() AERECRER next() /5i%; XMIFERT EBREIEAT:

>

>>> s = "abc’
>>> it = iter(s)
> it

{iterator object at 0x00A1DB50>
>>> next(it)

>

a

>>> next (it)

L)

b
>>> next(it)

L)

(&)
>>> next (it)
Traceback (most recent call last):
File “<stdin>”, line 1, in <module>
next (it)
Stoplteration

BINERBMNAIERIE, BIRIERINERSBITARBERT. X iter() HiERREI— NG
A next() FiEAOXISR. WREEENXT next(), T iter() FJLABEMEIRIA] self:

class Reverse:

nnn nnn

ITterator for looping over a sequence backwards.
def init (self, data):

self. data = data

self. index = len(data)

def iter (self):

return self

def next  (self):
if self.index == 0:
raise Stoplteration

self. index = self.index - 1
return self.data[self. index]

>>>

>>> rev = Reverse (' spam’)

>>> iter (rev)

< _main_.Reverse object at 0x00A1DB50>


af://n970

19 >>> for char in rev:

20 o print (char)
21 c

22 m

23 a

24 p

25 S

8 HEpkzE

ApkEE E—MATEERSENEEMEANIE, BIINSEEUTRENRS, BYEIIEREE
EITS(ER yield 56, 8REEKEE LA next() i, BN DXBFHMNERERT (BESISFEL
THTEONFEEIEE) . — N ERNEIEES S CIE A=A T:

1 def reverse (data) :

2 for index in range(len(data)-1, -1, -1):
3 yield datalindex]

1 >>>

> >>> for char in reverse( golf’):
6 . print (char)

7 o

8 f

9 1
10 o
11 g

A LA R4 AR RS SR SR AR E R T LA BRI — T iR E T 2RA0E R EE KT/, BEMSENEEERE
=, AATCSBE5helzE iter() 1 next() 5.

9 A RiERIRIATU

RLERREMRTUSKESIRAE, FAIEERUGIFRESIN, BINEAEESTAESE
S, XMRAEMIRT BT LR EMINEREFERIIER. £l B BN E
EEERARE, BEFIRGIRESTINENTERE.

M5
1 >0
2 >>> sum(i*i for i in range(10)) # sum of squares
3 285

|
5 >>> xvec = [10, 20, 30]
6 >>> yvec = [7, 5, 3]

7 >>> sum(x*y for x,y in zip(xvec, yvec)) # dot product

8 260

9

10 >>> unique words = set(word for line in page for word in line.split())

>>> valedictorian = max((student. gpa, student.name) for student in graduates)

>>> data = golf
>>> list(datali] for i in range(len(data)-1, -1, -1))
6 Ce, U, ', ']
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